ATHTSISG TasiTeT

Blue Print
Unit - I Efasr=)
X Class
VSA | SA SA LA | Skills
1 2 3 5 2 Total
Mark | Mark | Mark | Mark | Mark
SRPU H Iegaie BT 3eT 11(? 1
SSl dTgell A Iregdrel
et e 1(1) 3(1) 4
T H Icedie 5(1) 5
afFisciirehd faea bl ok
TeTelT
3frenoffasor BT Jgor 3(1) 3
PBIH, 3MAA 3N Siide 3(%)
gsﬂ fi- z ESﬁ? 5(1) 5
IqeATH, AHATST AT 5(*)
AT bred 2(1) 2
2 6 10 2 20
sbrs — 1 EmeriRaen==)
Unit - III (Civics)
X Class
VSA | VSA | VSA | LA Total
1 2 3 5 Marks
Mark | Mark | Mark | Mark a
1 ST — 1 Acdl Bl ATIETS 5(1) 5
2 AT — 2 AgdE 5 (%)
3 37T — 3 ollebds 3T fafeerar 3(1) 3
4 IR — 4 GIlfd, &H 3N Sifdreh HAAS 18; 2
5 3EATT — 5 ol JgW 3T 3Mcrctel 5(1) 5
6 3T — 6 Glellicad &l 5(%)
7 3MeATT — 7 cAlebdsl & Ui¥uMH 5(1) 5
8 3T — 8 TIhad T galfarar 5(¥%)

Marks :- 20




* 31erdr

sabis — IV (3reforr=ar)
Unit - IV (ECONOMICS)

X Class
VSA | VSA | VSA | LA
Total
1 2 3 5 Marks
Mark | Mark | Mark | Mark
. 3T — 1 1(1) "
ey 1(1)
, IEATT — 2 (1) 5
AR 3refeyazer & &5l
3 eI — 3 1(1) 5(1) .
HeT 3T AT 1(1)
. 3T — 4 5(1) 5
Jodftepzor AT A=A sreferazen *
AT — 5
> IUATaAT  3TfereprE 3(1) 3
20
* 37erar
Unit — IT (GEOGRAPHY)
X Class
VSA | SA SA LA | Skills Total
31T Marks 1 2 3 5 2 Marks
Mark | Mark | Mark | Mark | Mark
1 JAATTS Ta T 1(1) | 1(1) 3% 5 * 1
2 gel Ud ded oild JATerd 1% 1%
3 STl HATeTe 5(1) 5
4 P 1(1) | 1(1) 5 * 1
5 TIfeTol U Fooil JATer 3%
6 faferator Ienor 3(1) | 5(1) 8
, | T sreferazen @t Sftae «
=M B >
HATATRIST b1t 5 5
2 1Q 2Q 1Q 20




B2 | Secondary

Model Question Paper
Ur»d  gos—ux

ATAISIh  TasiTer
x™)

3 . :
/T USAT BN ASAT-27 Full Marks : 80

Total No. of Question =27
T forden)

General Instructions
1 udermell Jermdsta 3rual oral H B IA2T S

Candidates are required to give their answers in their own words as far as

practicable.
2 =W Ueusl H AR Shis & wd Al seprg B Felt ueal &1 39 e
aiferarst 2|
The question paper consists of Four units and all questions in all units are
compulsory.
i) sBrg — I Unit -1 (gfasr=1 History) - 20 3ik
iiygeers - Il Unit - II (egoiter Geograpy) - 20 3@
iii) grg — III Unit - III (@mo13as oo Civics) — 20 3k
iv)gmrgs — IV Unit - IV (3refem==r Economics) - 20 3k

3 URDB U9e B 3ich IAH ATHS 3ifhd & |

The figures in the margin indicate full marks of the question.
4 Ul B IR Ul B AT ’I o1w forder & anads H & d

Answer of the question must be in the context of the instructions given therein.

5 Gial el off 3raeaes &f, 38 Taw 3w JiRu|

Draw neat and clean diagrams wherever necessary.

6 ULT-IFE-3AT gRawr A & I3 FEfE Ru gu
The outline maps are given in the question-cum-Answer Booklet itself.
gpe—1 (FfaarT)
Unit - I (History)
J&l f&asea gt choose the correct option
1. SOIfaTel Sedre hiel & 2 Who was Nepolian Bonapart ?

31&adqar

Iegdle A FIT AAST & ? What do you mean by Nationalism ?

2. TOIdemd B Fadadl B UTd g ?
When did Vietnam get independence ?

3. Tragema # 3ufedorae RRIeh siraensti & ey A enfde Jorcst
I ofHBT a=T ot ?

What was the role of religious groups in the development of anti-colonial feeling in
Vietnam ?

31eraT
el gsA FADT BT g 3t F o

What is meant by the Bretton woods agreement ?



SeNfSres hifed b1 31ef AHSMU |
Explain the meaning of the term industrial revolution.

3T&dr1
eRdl AT P HET A cigel Bt FAEET FIT Bolad oloft 2 &l BIoT
ATy |
Why the population of London started expanding from middle of the eighteenth
Century.
orfefiot & 3rAsor 3fieialal Bl aTgA ool bl BAT o=l for=m 2
Why Gandhiji decided to withdraw the Non-Cooperation Movement ?

reAdl Al H HRA H IRIT Sdl U HEUT AJBId BT <RIl
3AT 3T ?
What were the effects of the spread of print culture on people in nineteenth Century
India ?

3ferdar

Nuferdfsrers aRad A Iu=md oA deg 3IufeldordhRl 3N Icedriel,
gl b U omere=Ies e ?

In what ways was the novel in colonial India useful for both the colonisers as well
as the nationalists ?

T o feag & Iz AERE Uz faeetaRaa zemsEl @1 gertse:
(Uea AR BT U=NeT &63I) |
(@) e Taca
(1) shicienT
In the given outline map of world mark the following places : (Use the given map).
(a) Great Britain
(b) Sri Lanka.




10.

11.

12.

shre- 11 (agenen)
Unit - IT (Geography)
uotg H ofH ferselipor o1 feroafaiRaa & 3 AT wRur =T & 2

Which one of the following is the main cause of land degradation in Punjab?

(a) 3T&<T [T Intensive cultivation (b) 31feres =2 Over irrigation
(c)a?ﬁaﬁa Deforestation (d) 31T gramer Overgrazing
RreafeiRaa & JF e A1 33 HWT yomelt & corfar & e vh
& BAT TI-AS & FH Fong e B9

Which one of the following describes a system of agriculture, where a single crop is
grown on a large area?

(a) TaTelTad<sl BiYr Shifting Agriculture  (b) JrgoT &I Plantation Agriculture
(c) amoTaTet Horticulture (d) aT&sT B Intensive Agriculture
3ol @t raRala o gafdd wal darer diel Aifdes dRe Idu |

Name any three Physical factors for the location of the industry.
310ar

SIcT goloTdT @I & ? SAD dled HIT BRUNT bl &3 |

What is water scarcity? Write its three main causes.

gg3eofs uReNoEenaii I & drel dhig uid c1 BT 3coid 62 |

Name any five merits of multi-purpose river project.

31&qdr

Uh UT WAA BT H ddi0 dal 3ABI 39 b [0 3TgdhReT
aonferes uRRerfa=t w1 fRazoer T

Name one important beverage crop and specify the geographical conditions
required for its growth.

SefloT uefawer @1 B uelid @ E o

How do industries pollute the environment?
311dr

By Iuresa A glg JFhafdaa w=a & v wRerR grr eu aw
3UTT JIMST |

Suggest the initiative taken by the government to ensure the increase in agriculture
production.

5

1

3



13.

(&)

(&)

T o HRd & I|T AT U= TerdaatoiiRad I EoMigu |
(1) e FA™T=IA
() gdt ad=r FAeme

Show the following in the given outline map of India.
(1) Thar desert

(i1) The eastern Coastal Plain
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T oY oRd & [ ATARMS BT eqTegdds 3T Bifoig 30T 1+1
(&),
HISTE | 3
Study the given outline Map of India carefully and name and identify the places
which are indicated by (a), (b) and (c).
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14.

15.

16.

17.

18.

19.

sbTs- 111 (EmeTiRasen==T)
Unit - III (Civics)
PIcechs H A ASI oIE Pl Foldb Rad AT bl HARE -
ATUSTRIB 3R UT oo ATUSTRIBAT BT G HT & |
(3TTT3fep  oTicTaicl, ZIoieilicaes dllciaicl)
Fill in the blank with correct words given in brackets :
...................... on religious lines is another form of Communalism.
(Economic mobilisation, Political mobilisation)

biteeh H A HEI oled bl el ek AT bl HARU -

FATT FH oo &I HfHBT Hecayol el 2 |
(Grfer, erad)

Fill in the blank with correct word given in bracket:
In election ............. Plays an important role.
(Caste, Religion)

ATHTTGIG TaaTelel fobd da A Ielelid bl UHIad hid & 2 o
3arelor ot dfSu |

How do social divisions affect politics? Give two examples.

JAfeoTTd A Tcar B ATIET Bl AT BT adat b |
Discuss the power sharing arrangements in Belgium.
3terar
AMASA B JHRT 3T UBlcHD IaHUT H FI-FIT F3T 3dT & ?
A 3STEI0T B HATETH J T h |

What is the main difference between a federal form of government and a Unitary
one? Explain with an example.

TATg AHET BI IIIATETT EAIhdiih JAIBIT B BIADBIST H A
3uefl &t B 2

Explain how the activities of pressure groups are useful in the functioning of a
democratic government.

37erar
et oft rorehifaes aor & o= oor B1d €2

What are the characteristics of a Political Party?

AThasl bl ATA 37D QTAST AT RIT hal Sidl & P

Why is democracy considered better than any other form of government?
31rdar

HIRT H cllbdisies 38R bl T=at b |

Discuss the democratic rights in India.



20.

21.

22.

23.

24.

25.

26.

27.

Sbrs— IV (31eferr==)
Unit — IV (Economics)
ufer =IfeRy 3T @=Im &t & 2 What is Per Capita Income?

qierl @1 a=T ol € 2 What are advantages of the Dams?
avg faferersr 1 waa & 2 What s the barter System?

gaT @t gRamaT €1 Define Money.

HeTcaT onefll IST  arefior Aoiene IRedl  3ffaferier, 2005 &
32T B TTSAT B |

Explain the objective of implementing the Mahatma Gandhi National Rural
Employment Guarantee Act, 2005.

ARA H IuAITGAT 3Midiclal B UJH3NA e BRUNT A F3 ? SAD
T & @ #H gar «end |

What factor gave birth to the Consumer Movement in India? Trace its evolution.

2or Y 3referazer F Fbr & T efdRr ZEdAT E 2
What role do the banks play in the economy of the Country?

STH Hlefell H TdIcdsl HUfell @bl BA ASTTAT (Fq) dHdal & ?
How do the flexibility in Labour laws help companies?
312rdar

=marz 3T feraer SAifa=at o1 3ertipor dedipror ufchamr & Asr=rdr
A ugardt g9

How has liberalisation of trade and investment policies helped in the globalisation
Process?
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